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gooodo.w, 0000000 OOO0OO0UODO, 00w, =1000000000,0000 w, ODOOODO
O00o0ooo. RMSDO FOOOOOOOOOOOOOO:

RMSD = \/E,pin. (2)
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0000U=1{u;} 00000 (0000) Y upuk; —6;; =00000,000000000000:
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=R'R.

000.R'ROODODODODOOOOOOO
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O000000. RPRODOOD A DOOOODOOD a,000.S+£000000000000,000 vV

ooooooooOooobb 000. 000000obbooooooon,
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1
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K
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n=1 n=1

K

=Y wa (XL +yr)—2) wy {Z(bk Yk (XK - ag)
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O FO00O0O0O,01=09=103=-1000. 000, 00000000000000000C0OO.

detfR]<000,00000000000,000000D00000O00O0OOOOOOOOO.
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O0000.0000000,000000000000000RODOOO:
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semidefininite diagonal matrix of singular values) 00 0. D000 RO 10000000 o; 000. OO
O0ROOOOOOOOO

3 3
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goooo.oooooooooo
[0, U(G)xk] = G7q° (45)
ooooo. pOo0000O E,0
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n=1
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512 00000,00000,000,0000
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00000000
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000000.00000000000000 a(bé) = (ab)¢é000000,000 ab#ba000. 0000

oooo,0000000000000004:
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=0, {(¢5 — lal*)T+2(aq + qoI x q)} 1]
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—sin@ cos 0
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agj:al-j (i#p,q00 j#p,q)
Ui = Qpj €OSH — ay; sinf (4 #pq)

Qgj = Gpj SiNG + ag; cos O (J#p,q)

@y, = Qi coS 0 — aqsin @ (i #p,q)

aly = @i cos O + ajgsinf (i #p,q)

al, = pp cos” 0 4 agq sin® 0 — 2a,, sin 6 cos 0

Ay = appSin° 0 + agq cos® 0 + 2a,4 sin 6 cos

Upy = %(app — Qqq) SIN 20 + a,q cos 260

gboo,o0booooon a;qDDD.DDD

1
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2
tan 20 = pq (88)
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G1Gy - Ger E (89)
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